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To solve for Q e v we can model the

cap first as a single infinite prate To use

Gauss we'll consider a box bisecting the

prate of area A e height 22 leave 1
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6.20 potential energy
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6.260 compare a battery e a capacitor
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6.30 stored in msn.no
would be purely the magnetic

field so
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The Poynting vector represents the energy frog
in electric ie magnetic fields their cross product
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Gi for Iw laser focused to Inn

I
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a chug from
much higher

now focused to 1µm iii

so the story is it takes a much stronger

field to focus power over a smaller area


